
1) Solve by factorising 
x2 - 2x + 1 = 0

Answer: ____________

2) 18 x (-24)

Answer: ____________

3) 131.6 ÷ 7

Answer: ____________

4) 25 x (-28)

Answer: ____________

5) 9 x 1000

Answer: ____________

6) (-56) - 93

Answer: ____________

7) 19/4 x 8/5

Answer: ____________

8) Round 23.59247 to 1 significant 
figures.

Answer: ____________

9) Write 9 x 102 as a normal number.

Answer: ____________

10)
196

7 /14

Answer: ____________

11) Find perimeter of 
rectangle having 
sides a = 99 ft 
and b = 97 ft

Answer: ____________

12) Increase 10 by 90%

Answer: ____________

13)
16

7 /14

Answer: ____________

14) 3/67 of 134

Answer: ____________

15) 16 x 10

Answer: ____________
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16)
81

7 /14

Answer: ____________

17) (-8) x (-8)

Answer: ____________

18) 1/119 of 238

Answer: ____________

19)
Find the next three numbers in 
the sequence
0,1,1,2,3,5,8__,__,__

Answer: ____________

20) Increase 57 by 3/19

Answer: ____________

Total: ___ / 20
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Answers:

1) x = 1 or 1 2) 3) 18.8 4) 5) 9000 6) -149 7) 73/5

8) 20 9) 900 10) 14 11) 392ft 12) 19 13) 4 14) 6

15) 160 16) 9 17) 18) 2 19) 13,21,34, 20) 66

Copyright 2022 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

July 10, 2022

Sr: 10072022-2747

 

http://www.geekschool.co.uk

